Kragujevac Journal of Mathematics Volume 34 (2010), Pages 91–102.

ON THE CONTINUOUS DEPENDENCE OF THE FIXED POINTS FOR (φ, ψ) -CONTRACTIVE-TYPE OPERATORS

MEMUDU OLAPOSI OLATINWO

ABSTRACT. In this paper, we establish some results pertaining to the continuous dependence of the fixed points in a Banach space setting for three iterative processes by using some general contractive conditions.

1. Introduction

In this paper, we establish some results pertaining to the continuous dependence of the fixed points in a Banach space setting for three iterative processes by using some general contractive conditions. Two of these iterative processes have been recently introduced in [14] and [15]. Our results are generalizations and extensions of some of the results of [3], [4], [19] and [26]. See also the recent results of [5], [16], [20], [21] and [22].

Let (E, d) be a complete metric space and $T : E \to E$ a selfmap of E. Suppose that $F_T = \{p \in E \mid Tp = p\}$ is the set of fixed points of T.

There are several iterative processes in the literature for which the fixed points of operators have been approximated over the years by various authors. In a complete metric space, the Picard iterative process $\{x_n\}_{n=0}^{\infty}$ defined by

$$(1.1) x_{n+1} = Tx_n, \quad n = 0, 1, \dots,$$

Received: February 09, 2010.

Revised: April 27, 2010.

 $Key\ words\ and\ phrases.$ Continuous dependence, General contractive conditions, Banach space setting.

²⁰¹⁰ Mathematics Subject Classification. 47H06, 47H10.

has been employed to approximate the fixed points of mappings satisfying the inequality relation

(1.2)
$$d(Tx, Ty) \le \alpha d(x, y), \text{ for all } x, y \in E \text{ and } \alpha \in [0, 1).$$

Condition (1.2) is called the *Banach's contraction condition*. Any operator satisfying (1.2) is called *strict contraction*. Also, condition (1.2) is significant in the celebrated Banach's fixed point theorem [1].

In a normed linear space or a Banach space setting, we shall state some of the iterative processes generalizing (1.1) as follows:

For $x_0 \in E$, the sequence $\{x_n\}_{n=0}^{\infty}$ defined by

(1.3)
$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n, \quad n = 0, 1, \dots,$$

where $\{\alpha_n\}_{n=0}^{\infty} \subset [0,1]$, is called the Mann iterative process (see [12]). The sequence $\{x_n\}_{n=0}^{\infty}$ defined by

(1.4)
$$x_{n+1} = \sum_{i=0}^{k} \alpha_i T^i x_n, \quad x_0 \in E, \quad n = 0, 1, 2, \dots, \quad \sum_{i=0}^{k} \alpha_i = 1,$$

 $\alpha_i \geq 0, \ \alpha_0 \neq 0, \ \alpha_i \in [0,1],$ where k is a fixed integer is called the Kirk iterative process (see [10]).

The following two iterative processes in Olatinwo [14] and [15] generalize several well-known iterative processes in the literature including those defined in (1.1), (1.3) and (1.4):

(I) For $x_0 \in E$, define the sequence $\{x_n\}_{n=0}^{\infty}$ by

(1.5)
$$x_{n+1} = \sum_{i=0}^{k} \alpha_{n, i} T^{i} x_{n}, \quad n = 0, 1, 2, \dots, \quad \sum_{i=0}^{k} \alpha_{n, i} = 1,$$

 $\alpha_{n,i} \geq 0, \ \alpha_{n,0} \neq 0, \ \alpha_{n,i} \in [0,1], \text{ where } k \text{ is a fixed integer.}$

(II) Let $T_i: E \to E$ (i = 0, 1, ..., k) be selfmaps of E and $x_0 \in E$. Then, define the sequence $\{x_n\}_{n=0}^{\infty}$ by

(1.6)
$$x_{n+1} = \sum_{i=0}^{k} \alpha_{n, i} T_i x_n, \quad \sum_{i=0}^{k} \alpha_{n, i} = 1, \quad n = 0, 1, 2, \dots,$$

 $\alpha_{n,i} \geq 0$, $\alpha_{n,0} \neq 0$, $\alpha_{n,i} \in [0,1]$, where k is a fixed integer and T_0 is an identity operator.

In many applications, the operator T in the Picard iteration of (1.1) depends on an additional parameter $\lambda \in Y$, where Y is a parameter space. Therefore, (1.1) is replaced by the equation

(1.7)
$$x_{\lambda} = S_{\lambda} x_{\lambda}, \quad x_{\lambda} \in E, \quad \lambda \in Y.$$

Condition (1.2) was employed in Zeidler [26] to prove a result on the stability of the fixed points (that is, continuous dependence of the fixed points on a parameter) for the Picard iteration. In Rus [19] and also Berinde [3] and Berinde [4], the continuous dependence of the fixed points on a parameter has been well formulated in the following general context in a metric space: Let (E, d) be a complete metric space, (Y, τ) a topological space and $S_{\lambda} : E \times Y \to E$ a family of operators depending on the parameter $\lambda \in Y$. Suppose that $S_{\lambda} := S(\cdot, \lambda), \lambda \in Y$, has a unique fixed point x_{λ}^* , for any $\lambda \in Y$.

Define the operator $U: Y \to E$ by

$$U(\lambda) = x_{\lambda}^*$$
, for all $\lambda \in Y$.

We are interested in finding sufficient conditions on S_{λ} that guarantee the continuity of U. In Rus [19], the following contractive condition was used: For a continuous mapping $S_{\lambda}: E \times Y \to E$, there exists a strict comparison function $\psi: \mathbb{R}_+ \to \mathbb{R}_+$ such that, for all $x, y \in E$,

$$(1.8) d(S(x,\lambda),S(y,\lambda)) \le \varphi(d(x,y)), for all x,y \in E, \lambda \in Y.$$

In Olatinwo [16], the concept of the continuous dependence of the fixed points on a parameter has been extended from the complete metric space to the normed linear space for the Schaefer and Mann iterative processes. Since metric is induced by norm, we have that d(x,y) = ||x-y||, for all $x,y \in E$, for the normed linear space or Banach space setting.

2. Preliminaries

We shall require the following definition and lemmas in the sequel:

- **Definition 2.1.** (a) A function $\psi : \mathbb{R}_+ \to \mathbb{R}_+$ is called a *comparison function* if it satisfies the following conditions:
 - (i) ψ is monotone increasing;
 - (ii) $\lim_{n\to\infty} \psi^n(t) = 0$, for all $t \ge 0$.
 - (b) A comparison function satisfying $t \psi(t) \to \infty$ as $t \to \infty$ is called a *strict comparison function*.

See Berinde [2], [3], [4], Rus [19] and Rus et al [23] for the definition and examples of comparison function.

Remark 2.1. Every comparison function satisfies $\psi(0) = 0$.

We shall use the following contractive conditions:

- (a) For a continuous mapping $S_{\lambda}: E \times Y \to E$, there exist:
- (i) a real number $L \geq 0$ and a strict comparison function $\psi : \mathbb{R}_+ \to \mathbb{R}_+$ such that, for all $x, y \in E$,

$$(2.1) ||S(x,\lambda) - S(y,\lambda)|| < L||x - S(x,\lambda)|| + \psi(||x - y||), \quad \lambda \in Y;$$

(ii) a monotone increasing function $\varphi : \mathbb{R}_+ \to \mathbb{R}_+$ with $\varphi(0) = 0$ and a strict comparison function $\psi : \mathbb{R}_+ \to \mathbb{R}_+$ such that, for all $x, y \in E$,

$$(2.2) ||S(x,\lambda) - S(y,\lambda)|| \le \varphi(||x - S(x,\lambda)||) + \psi(||x - y||), \quad \lambda \in Y.$$

- (b) For continuous mappings $S_i: E \times Y \to E$, there exist a monotone increasing function $\varphi: \mathbb{R}_+ \to \mathbb{R}_+$ with $\varphi(0) = 0$ and strict comparison functions $\psi_i: \mathbb{R}_+ \to \mathbb{R}_+$, such that, for all $x, y \in E$, we have
- (2.3) $||S_i(x,\lambda) S_i(y,\lambda)|| \le \varphi(||x S_i(x,\lambda)||) + \psi_i(||x y||), i = 0, 1, 2, ..., \lambda \in Y,$ where $\psi_0(||x - y||) = I(||x - y||) = ||x - y||$ =identity function and $S_0 = I$ (identity mapping).

We shall require the following Lemmas in the sequel:

Lemma 2.1. Let $(E, ||\cdot||)$ be a Banach space and let $S_{\lambda} : E \times Y \to E$ be a mapping satisfying (2.1), where $\psi : \mathbb{R}_+ \to \mathbb{R}_+$ is a sublinear comparison function. Then, for all $i \in \mathbb{N}$, we have

$$(2.4) ||S^{i}(x,\lambda) - S^{i}(y,\lambda)|| \le \sum_{j=1}^{i} {i \choose j} L^{j} \psi^{i-j}(||x - S(x,\lambda)||) + \psi^{i}(||x - y||),$$

 $\lambda \in Y$, for all $x, y \in E$.

Lemma 2.2. Let $(E, ||\cdot||)$ be a Banach space and $S_{\lambda}: E \times Y \to E$ a mapping satisfying (2.2), where $\psi: \mathbb{R}_+ \to \mathbb{R}_+$ is a sublinear comparison function and $\varphi: \mathbb{R}_+ \to \mathbb{R}_+$, a sublinear monotone increasing function such that $\varphi(0) = 0$ and $\psi^s(\varphi^r(x)) \leq \varphi^r(\psi^s(x))$, for all $x \in \mathbb{R}_+$, $r, s \in \mathbb{N}$. Then, for all $i \in \mathbb{N}$, we have

$$(2.5) ||S^{i}(x,\lambda) - S^{i}(y,\lambda)|| \leq \sum_{j=1}^{i} {i \choose j} \varphi^{j}(\psi^{i-j}(||x - S(x,\lambda)||)) + \psi^{i}(||x - y||),$$

 $\lambda \in Y$, for all $x, y \in E$.

Proof. The proof of sublinearity of both φ and ψ is as follows:

In order to show that ψ^i (i.e. iterate of ψ) is sublinear, we have to show that ψ^i is both subadditive and positively homogeneous.

We first establish that ψ subadditive implies that each iterate ψ^i of ψ is also subadditive. Since ψ is subadditive, we have

$$\psi(x+y) \le \psi(x) + \psi(y)$$
, for all $x, y \in \mathbb{R}_+$.

Therefore, using subadditivity of ψ in ψ^2 yields

$$\psi^{2}(x+y) = \psi(\psi(x+y)) \le \psi(\psi(x) + \psi(y)) \le \psi(\psi(x)) + \psi(\psi(y)) = \psi^{2}(x) + \psi^{2}(y),$$

which implies that ψ^2 is subadditive.

Similarly, applying subadditivity of ψ^2 in ψ^3 , we get

$$\psi^{3}(x+y) = \psi(\psi^{2}(x+y)) \le \psi(\psi^{2}(x) + \psi^{2}(y)) \le \psi(\psi^{2}(x)) + \psi(\psi^{2}(y))$$
$$= \psi^{3}(x) + \psi^{3}(y),$$

which implies that ψ^3 is also subadditive.

Hence, in general, each ψ^n , $n = 1, 2, \ldots$, is subadditive.

We now prove that ψ positively homogeneous implies that each iterate ψ^i of ψ is also positively homogeneous: Therefore, we have that

$$\psi(\alpha x) = \alpha \psi(x)$$
, for all $x \in \mathbb{R}_+$, $\alpha > 0$.

Using positive homogeneity of ψ in ψ^2 , we have

$$\psi^2(\alpha x) = \psi(\psi(\alpha x)) = \psi(\alpha \psi(x)) = \alpha \psi(\psi(x)) = \alpha \psi^2(x), \text{ for all } x \in \mathbb{R}_+, \ \alpha > 0,$$

which implies that ψ^2 is positively homogeneous.

Hence, in general, each ψ^n , $n = 1, 2, \ldots$, is positively homogeneous.

Thus, we have that ψ^n , $n = 1, 2, \ldots$, is sublinear.

Similarly, we can prove the sublinearity of φ as that of ψ .

The second part of the proof of this lemma is by induction on i as follows: Now, throughout the proof, we shall use the fact that $S(x, \lambda) = S_{\lambda}x$, $x \in E$, $\lambda \in Y$.

If i = 1, then (2.5) becomes

$$||S_{\lambda}x - S_{\lambda}y|| \leq \sum_{j=1}^{1} {1 \choose j} \varphi^{j}(\psi^{1-j}(||x - S_{\lambda}x||)) + \psi(||x - y||) = \varphi(||x - S_{\lambda}x||) + \psi(||x - y||),$$

that is, (2.5) reduces to (2.2) when i = 1 and hence the result holds.

Assume as an inductive hypothesis that (2.4) holds for $i = m, m \in \mathbb{N}$, that is,

$$||S_{\lambda}^{m}x - S_{\lambda}^{m}y|| \le \sum_{j=1}^{m} {m \choose j} \varphi^{j}(\psi^{m-j}(||x - S_{\lambda}x||)) + \psi^{m}(||x - y||), \text{ for all } x, y \in E.$$

We then show that the statement is true for i = m + 1

$$\begin{split} &||S_{\lambda}^{m+1}x - S_{\lambda}^{m+1}y|| \\ &= ||S_{\lambda}^{m}(S_{\lambda}x) - S_{\lambda}^{m}(S_{\lambda}y)|| \\ &\leq \sum_{j=1}^{m} \binom{m}{j} \varphi^{j} (\psi^{m-j}(||S_{\lambda}x - S_{\lambda}^{2}x||)) + \psi^{m}(||S_{\lambda}x - S_{\lambda}y||) \\ &\leq \sum_{j=1}^{m} \binom{m}{j} \varphi^{j} (\psi^{m-j}(\varphi(||x - S_{\lambda}x||) + \psi(||x - S_{\lambda}x||))) \\ &+ \psi^{m}(\varphi(||x - S_{\lambda}x||) + \psi(||x - y||)) \\ &\leq \sum_{j=1}^{m} \binom{m}{j} \varphi^{j} [\psi^{m-j}(\varphi(||x - S_{\lambda}x||)) + \psi^{m+1-j}(||x - S_{\lambda}x||)] \\ &+ \psi^{m}(\varphi(||x - S_{\lambda}x||)) + \psi^{m+1}(||x - y||) \\ &\leq \sum_{j=1}^{m} \binom{m}{j} \varphi^{j} [\varphi(\psi^{m-j}(||x - S_{\lambda}x||)) + \psi^{m+1-j}(||x - S_{\lambda}x||)] \\ &+ \varphi(\psi^{m}(||x - S_{\lambda}x||)) + \psi^{m+1}(||x - y||) \\ &\leq \sum_{j=1}^{m} \binom{m}{j} \varphi^{j+1}(\psi^{m-j}(||x - S_{\lambda}x||)) + \sum_{j=1}^{m} \binom{m}{j} \varphi^{j}(\psi^{m+1-j}(||x - S_{\lambda}x||)) \\ &+ \varphi(\psi^{m}(||x - S_{\lambda}x||)) + \psi^{m+1}(||x - y||) \\ &= \binom{m}{m} \varphi^{m+1}(||x - S_{\lambda}x||) + \left[\binom{m}{m-1} + \binom{m}{m}\right] \varphi^{m}(\psi(||x - S_{\lambda}x||)) \\ &+ \left[\binom{m}{m-2} + \binom{m}{m}\right] \varphi(\psi^{m}(||x - S_{\lambda}x||)) + \psi^{m+1}(||x - y||) \\ &= \binom{m+1}{m+1} \varphi^{m+1}(||x - S_{\lambda}x||) + \binom{m+1}{m} \varphi^{m}(\psi(||x - S_{\lambda}x||)) \\ &+ \binom{m+1}{m-1} \varphi^{2}(\psi^{m-1}(||x - S_{\lambda}x||)) + \cdots \\ &+ \binom{m+1}{2} \varphi^{2}(\psi^{m-1}(||x - S_{\lambda}x||)) + \binom{m+1}{1} \varphi(\psi^{m}(||x - S_{\lambda}x||)) \\ &+ \psi^{m+1}(||x - y||) \end{split}$$

$$= \sum_{j=1}^{m+1} {m+1 \choose j} \varphi^j(\psi^{m+1-j}(||x-S_{\lambda}x||)) + \psi^{m+1}(||x-y||).$$

Lemma 2.3. [13] Let $\{\psi^k(t)\}_{k=0}^n$ be a finite set of comparison functions. Then, any linear combination $\sum_{j=0}^n c_j \psi^j(t)$ of the comparison functions is also a comparison function, where $\sum_{j=0}^n c_j = 1$ and c_o, c_1, \ldots, c_n are positive constants.

3. Main Results

Theorem 3.1. Let $(E, \|\cdot\|)$ be a Banach space and (Y, τ) a topological space. Let $S_i : E \times Y \to E$ (i = 0, 1, ..., k) be continuous mappings satisfying (2.3). Suppose that $\psi_i : \mathbb{R}_+ \to \mathbb{R}_+$ (for each i) is a strict comparison function and $\varphi : \mathbb{R}_+ \to \mathbb{R}_+$ a monotone increasing function such that $\varphi(0) = 0$. Let x_{λ}^* be the unique common fixed point of $S_{i\lambda}$, for each i, where $S_{i\lambda}x = S_i(x,\lambda)$, $x \in E$, $\lambda \in Y$. Suppose $\{x_n\}_{n=0}^{\infty}$ is the Kirk-Mann iterative process defined by (1.6) with $\sum_{i=0}^k \alpha_{n,i} = 1$. Then, the mapping $U : Y \to E$, given by $U(\lambda) = x_{\lambda}^*$, $\lambda \in Y$, is continuous.

Proof. Let $\lambda_1, \lambda_2 \in Y$. Then, we shall apply the contractive condition and the triangle inequality in the sequel. Let $S_0 = I$ (identity mapping). Then, $I(x_\lambda, \lambda) = I_\lambda x_\lambda = x_\lambda$. Since

$$\begin{split} &||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||\\ &\leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i}||S_{i}(x_{\lambda_{1}}^{*},\lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| + \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \; ||S_{i}(x_{\lambda_{2}}^{*},\lambda_{2})||\\ &\leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i}[\; ||S_{i}(x_{\lambda_{1}}^{*},\lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*},\lambda_{1})|| + ||S_{i}(x_{\lambda_{2}}^{*},\lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \; |\\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \; ||S_{i}(x_{\lambda_{2}}^{*},\lambda_{2})||\\ &= \sum_{i=0}^{k} \alpha_{\lambda_{1},i}||S_{i}(x_{\lambda_{1}}^{*},\lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*},\lambda_{1})||\\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i}||S_{i}(x_{\lambda_{2}}^{*},\lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| + \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \; ||S_{i}(x_{\lambda_{2}}^{*},\lambda_{2})||\\ &\leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i} \left\{ \varphi(||x_{\lambda_{1}}^{*} - S_{i}(x_{\lambda_{1}}^{*},\lambda_{1})||) + \psi_{i}(||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||) \right\}\\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i}||S_{i}(x_{\lambda_{2}}^{*},\lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| + \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \; ||S_{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \end{aligned}$$

(3.1)
$$= \sum_{i=0}^{k} \alpha_{\lambda_{1},i} \psi_{i}(||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||) + \sum_{i=0}^{k} \alpha_{\lambda_{1},i}||S_{i}(x_{\lambda_{2}}^{*}, \lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*}, \lambda_{2})||$$

$$+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| ||S_{i}(x_{\lambda_{2}}^{*}, \lambda_{2})||.$$

Therefore, we have from (3.1) that

$$(3.2) ||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}|| - \sum_{i=0}^{k} \alpha_{\lambda_{1},i} \psi_{i}(||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||) \leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i} ||S_{i}(x_{\lambda_{2}}^{*}, \lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*}, \lambda_{2})|| + \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| ||S_{i}(x_{\lambda_{2}}^{*}, \lambda_{2})||,$$

so that from (3.2) we have

$$||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}|| - \bar{\psi}(||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||)$$

$$\leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i}||S_{i}(x_{\lambda_{2}}^{*}, \lambda_{1}) - S_{i}(x_{\lambda_{2}}^{*}, \lambda_{2})|| + \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| ||S_{i}(x_{\lambda_{2}}^{*}, \lambda_{2})||$$

$$(3.3) \quad = \sum_{i=0}^{k} \alpha_{\lambda_1,i} ||S_{i\lambda_1} x_{\lambda_2}^* - S_{i\lambda_2} x_{\lambda_2}^*|| + \sum_{i=0}^{k} |\alpha_{\lambda_1,i} - \alpha_{\lambda_2,i}| ||S_{i\lambda_2} x_{\lambda_2}^*||,$$

where $\bar{\psi}(||x_{\lambda_1}^* - x_{\lambda_2}^*||) = \sum_{i=0}^k \alpha_{\lambda_1,i} \psi_i(||x_{\lambda_1}^* - x_{\lambda_2}^*||).$

By Lemma 2.3, we have that $\bar{\psi}$ is also a (strict) comparison function.

Since S_i is continuous for each i, we have

$$||S_{i\lambda_1}x_{\lambda_2}^* - S_{i\lambda_2}x_{\lambda_2}^*|| \to 0 \text{ as } \lambda_2 \to \lambda_1,$$

and also,

$$\sum_{i=0}^{k} |\alpha_{\lambda_1,i} - \alpha_{\lambda_2,i}| \ ||S_{i\lambda_2} x_{\lambda_2}^*|| \to 0 \text{ as } \lambda_2 \to \lambda_1,$$

so that (3.3) leads to

$$||x_{\lambda_1}^* - x_{\lambda_2}^*|| \to 0 \text{ as } \lambda_2 \to \lambda_1.$$

That is,

$$||U(\lambda_1) - U(\lambda_2)|| \to 0 \text{ as } \lambda_2 \to \lambda_1.$$

Hence, the mapping $U: Y \to E$, defined by $U(\lambda) = x_{\lambda}^*, \lambda \in Y$, is continuous. \square

Theorem 3.2. Let $(E, \|\cdot\|)$ be a Banach space and (Y, τ) a topological space. Let $S: E \times Y \to E$ be a continuous mapping satisfying (2.2). Suppose $\varphi: \mathbb{R}_+ \to \mathbb{R}_+$ is a sublinear monotone increasing function such that $\varphi(0) = 0$ and $\psi: \mathbb{R}_+ \to \mathbb{R}_+$ a sublinear comparison function such that $\psi^s(\varphi^r(x)) \leq \varphi^r(\psi^s(x))$, for all $x \in \mathbb{R}_+$, $r, s \in \mathbb{N}$. Let x_{λ}^* be the unique fixed point of S_{λ} , where $S_{\lambda}x = S(x, \lambda)$, $x \in E$, $\lambda \in Y$. Suppose $\{x_n\}_{n=0}^{\infty}$ is the Kirk-Mann iterative process defined by (1.5) with $\sum_{i=0}^k \alpha_{n, i} = 1$. Then, the mapping $U: Y \to E$, given by $U(\lambda) = x_{\lambda}^*$, $\lambda \in Y$, is continuous.

Proof. Let $\lambda_1, \lambda_2 \in Y$. Then, we shall apply Lemma 2.2, Lemma 2.3 and the triangle inequality in the sequel. Let $T^0 = I$ (identity mapping). Then, $I(x_\lambda, \lambda) = I_\lambda x_\lambda = x_\lambda$.

$$\begin{split} &||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}|| \\ &= ||\sum_{i=0}^{k} \alpha_{\lambda_{1},i}[\ S^{i}(x_{\lambda_{1}}^{*},\lambda_{1}) - S^{i}(x_{\lambda_{2}}^{*},\lambda_{2}) \] + \sum_{i=0}^{k} (\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}) S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \\ &\leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i}||S^{i}(x_{\lambda_{1}}^{*},\lambda_{1}) - S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| + \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \ ||S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \\ &\leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i}[\ ||S^{i}(x_{\lambda_{1},i}^{*},\lambda_{1}) - S^{i}(x_{\lambda_{2}}^{*},\lambda_{1})|| + ||S^{i}(x_{\lambda_{2}}^{*},\lambda_{1}) - S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \ \\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \ ||S^{i}(x_{\lambda_{2}}^{*},\lambda_{1})|| \\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i}||S^{i}(x_{\lambda_{1}}^{*},\lambda_{1}) - S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \ \\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \ ||S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \ \\ &= \sum_{i=1}^{k} |\alpha_{\lambda_{1},i}||S^{i}(x_{\lambda_{1}}^{*},\lambda_{1}) - S^{i}(x_{\lambda_{2}}^{*},\lambda_{1})|| + \alpha_{\lambda_{1},0}||I(x_{\lambda_{1}}^{*},\lambda_{1}) - I(x_{\lambda_{2}}^{*},\lambda_{1})|| \ \\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i}||S^{i}(x_{\lambda_{2}}^{*},\lambda_{1}) - S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \ \\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \ ||S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \ \\ &+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| \ ||S^{i}(x_{\lambda_{2}}^{*},\lambda_{2})|| \ \end{aligned}$$

$$\leq \sum_{i=1}^{k} \alpha_{\lambda_{1},i} \left[\sum_{j=1}^{i} {i \choose j} \varphi^{j} (\psi^{i-j} (||x_{\lambda_{1},i}^{*} - S(x_{\lambda_{1}}^{*}, \lambda_{1})||)) + \psi^{i} (||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||) \right]$$

$$+ \alpha_{\lambda_{1},0} ||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}|| + \sum_{i=0}^{k} \alpha_{\lambda_{1},i} ||S^{i} (x_{\lambda_{2}}^{*}, \lambda_{1}) - S^{i} (x_{\lambda_{2}}^{*}, \lambda_{2})||$$

$$+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| ||S^{i} (x_{\lambda_{2}}^{*}, \lambda_{2})||$$

$$= \sum_{i=1}^{k} \alpha_{\lambda_{1},i} \left[\sum_{j=1}^{i} {i \choose j} \varphi^{j} (\psi^{i-j} (0)) + \psi^{i} (||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||) \right] + \alpha_{\lambda_{1},0} ||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||$$

$$+ \sum_{i=0}^{k} \alpha_{\lambda_{1},i} ||S_{\lambda_{1}}^{i} x_{\lambda_{2}}^{*} - S_{\lambda_{2}}^{i} x_{\lambda_{2}}^{*}|| + \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| ||S_{\lambda_{2}}^{i} x_{\lambda_{2}}^{*}||,$$

i.e.

$$(3.4) ||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}|| \leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i} \psi^{i}(||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||) + \sum_{i=0}^{k} \alpha_{\lambda_{1},i} ||S_{\lambda_{1},i}^{i} x_{\lambda_{2}}^{*} - S_{\lambda_{2}}^{i} x_{\lambda_{2}}^{*}|| + \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| ||S_{\lambda_{2}}^{i} x_{\lambda_{2}}^{*}||,$$

since $\varphi^{j}(\psi^{i-j}(0)) = \varphi^{j}(0) = \psi^{i-j}(0) = \varphi(0) = \psi(0) = 0$. It follows from (3.4) that

$$||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}|| - \bar{\psi}(||x_{\lambda_{1}}^{*} - x_{\lambda_{2}}^{*}||) \leq \sum_{i=0}^{k} \alpha_{\lambda_{1},i} ||S_{\lambda_{1}}^{i} x_{\lambda_{2}}^{*} - S_{\lambda_{2}}^{i} x_{\lambda_{2}}^{*}||$$

$$+ \sum_{i=0}^{k} |\alpha_{\lambda_{1},i} - \alpha_{\lambda_{2},i}| ||S_{\lambda_{2}}^{i} x_{\lambda_{2}}^{*}||,$$
(3.5)

where $\bar{\psi}(||x_{\lambda_1}^* - x_{\lambda_2}^*||) = \sum_{i=0}^k \alpha_{\lambda_1,i} \psi^i(||x_{\lambda_1}^* - x_{\lambda_2}^*||).$

By Lemma 2.3, we have that $\bar{\psi}$ is also a (strict) comparison function. Since S is continuous, we have

$$||S_{\lambda_1}^i x_{\lambda_2}^* - S_{\lambda_2}^i x_{\lambda_2}^*|| \to 0 \text{ as } \lambda_2 \to \lambda_1,$$

and also,

$$\sum_{i=0}^{k} |\alpha_{\lambda_1,i} - \alpha_{\lambda_2,i}| \ ||S_{\lambda_2}^i x_{\lambda_2}^*|| \to 0 \text{ as } \lambda_2 \to \lambda_1,$$

so that (3.5) leads to

$$||x_{\lambda_1}^* - x_{\lambda_2}^*|| \to 0 \text{ as } \lambda_2 \to \lambda_1.$$

That is, $||U(\lambda_1) - U(\lambda_2)|| \to 0$ as $\lambda_2 \to \lambda_1$. Hence, the mapping $U: Y \to E$, defined by $U(\lambda) = x_{\lambda}^*$, $\lambda \in Y$, is continuous.

Theorem 3.3. Let $(E, \|\cdot\|)$ be a Banach space and (Y, τ) a topological space. Let $S: E \times Y \to E$ be a continuous mapping satisfying (2.1). Suppose that $\psi: \mathbb{R}_+ \to \mathbb{R}_+$ a sublinear comparison function. Let x_{λ}^* be the unique fixed point of S_{λ} where $S_{\lambda}x = S(x, \lambda)$, $x \in E$, $\lambda \in Y$. Suppose $\{x_n\}_{n=0}^{\infty}$ is the Kirk-Mann iterative process defined by (1.5) with $\sum_{i=0}^k \alpha_{n,i} = 1$. Then, the mapping $U: Y \to E$, given by $U(\lambda) = x_{\lambda}^*$, $\lambda \in Y$, is continuous.

Proof. The proof is similar to that of Theorem 3.2, except for the application of Lemma 2.1.

Theorem 3.4. Let $(E, \|\cdot\|)$ be a Banach space and (Y, τ) a topological space. Let $S: E \times Y \to E$ be a continuous mapping satisfying (2.2). Suppose $\varphi: \mathbb{R}_+ \to \mathbb{R}_+$ is a sublinear monotone increasing function such that $\varphi(0) = 0$ and $\psi: \mathbb{R}_+ \to \mathbb{R}_+$ a sublinear comparison function. Let x_{λ}^* be the unique fixed point of S_{λ} where $S_{\lambda}x = S(x,\lambda), x \in E, \lambda \in Y$. Suppose $\{x_n\}_{n=0}^{\infty}$ is the Kirk iterative process defined by (1.4) with $\sum_{i=0}^k \alpha_i = 1$. Then, the mapping $U: Y \to E$, given by $U(\lambda) = x_{\lambda}^*$, $\lambda \in Y$, is continuous.

Proof. The proof is similar to that of Theorem 3.2.

Remark 3.1. Our results generalize, extend and improve Proposition 1.2 of Zeidler [26]. Our results also extend Theorem 7.7 of Berinde [3] and [4] (which is Theorem 7.1.2 of Rus [19]) from the complete metric space to the Banach space setting. See also the results of [5], [16], [20], [21] and [22].

Acknowledgment: Some part of this research work was carried out while the author was on Research Visit to the Centre for Advanced Studies in Mathematics, Lahore University of Management Sciences, Lahore, Pakistan.

References

- [1] S. Banach, Sur les operations dans les ensembles abstraits et leur applications aux equations integrales, Fund. Math. 3 (1922), 133-181.
- [2] V. Berinde, A priori and a posteriori error estimates for a class of φ -contractions, Bulletins for Applied & Computing Math. (1999), 183-192.

- [3] V. Berinde, Iterative approximation of fixed points, Editura Efemeride, 2002.
- [4] V. Berinde, Iterative approximation of fixed points, Springer-Verlag Berlin Heidelberg, 2007.
- [5] V. Berinde and M. Pacurar, Fixed points and continuity of almost contractions, Fixed Point Theory, 9 (1) (2008), 23-34.
- [6] Lj. B. Ciric, Generalized contractions and fixed point theorems, Publ. Inst. Math. (Beograd) (N. S.) 12 (26) (1971), 19-26.
- [7] Lj. B. Ciric, A generalization of Banach's contraction principle, Proc. Amer. Math. Soc. 45 (1974), 267-273.
- [8] Lj. B. Ciric, Some recent results in metrical fixed point theory, University of Belgrade, 2003.
- [9] R. Kannan, Some results on fixed points, Bull. Calcutta Math. Soc. 10 (1968), 71-76.
- [10] W. A. Kirk, On successive approximations for nonexpansive mappings in Banach spaces, Glasgow Math. J. 12 (1971), 6-9.
- [11] M. A. Khamsi and W. A. Kirk, An introduction to metric spaces and fixed point theory, John Wiley & Sons, Inc., 2001.
- [12] W. R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 44 (1953), 506-510.
- [13] C. O. Imoru, M. O. Olatinwo and O. O. Owojori, On the stability results for Picard and Mann iteration procedures, J. Appl. Funct. Differ. Eqn. JAFDE 1 (1) (2006), 71-80.
- [14] M. O. Olatinwo, Some stability results for two hybrid fixed point iterative algorithms of Kirk-Ishikawa and Kirk-Mann type, J. Adv. Math. Studies 1 (1-2) (2008), 87-96.
- [15] M. O. Olatinwo, Some stability results for two hybrid fixed point iterative algorithms in normed linear space, Matematicki Vesnik 61 (4) (2009), 247-256.
- [16] M. O. Olatinwo, Some results on the continuous dependence of the fixed points in normed linear space, Fixed Point Theory 10 (1) (2009), 151-157.
- [17] E. Picard, Memoire sur la theorie des equations aux derivees partielles et la methode des approximations successives, J. Math. Pures et Appl. 6 (1890), 145-210.
- [18] B. E. Rhoades, A comparison of various definitions of contractive mappings, Trans. Amer. Math. Soc. 226 (1977), 257-290.
- [19] I. A. Rus, Generalized contractions and applications, Cluj Univ. Press, Cluj Napoca, 2001.
- [20] I. A. Rus, The theory of metrical fixed point theorem: Theoretical and applicative relevances, Fixed Point Theory, 9 (2) (2008), 541-559.
- [21] I. A. Rus and B. Rus, *Data dependence of the fixed points set of weakly Picard operators*, Studia Univ. Babes-Bolyai Math. **43** (1998), 79-83.
- [22] I. A. Rus and S. Muresan, Data dependence of the fixed points set of some weakly Picard operators, Tiberiu Popoviciu Sem. Cluj-Napoca (2000), 201-208.
- [23] I. A. Rus, A. Petrusel and G. Petrusel, Fixed point theory, 1950-2000, Romanian contributions, House of the Book of Science, Cluj Napoca, 2002.
- [24] H. Schaefer, *Uber die methode sukzessiver approximationen*, Jahresber. Deutsch. Math. Verein. **59** (1957), 131-140.
- [25] T. Zamfirescu, Fix point theorems in metric spaces, Arch. Math. 23 (1972), 292-298.
- [26] E. Zeidler, Nonlinear functional analysis and its applications-Fixed point theorems, Springer-Verlag, New York, Inc., 1986.

DEPARTMENT OF MATHEMATICS,

OBAFEMI AWOLOWO UNIVERSITY, ILE-IFE

Nigeria

E-mail address: molaposi@yahoo.com / memudu.olatinwo@gmail.com